Исходные данные к задаче 1
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Исходные данные к задаче 2
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Tlocanxa c sasopom

Tlocanxa c natarom

Tiepexonnan nocaara

Brpnans (preysox 1.1) (preysox 1.2) (pucysox 1.3)
21 @20 7igs 3120776 B36KTME
2 @25 G B160 MEAT 240 H7/m6
23 232 HT @200 UBhT 245 376
2 G40 HTIeE 2050 TG 250 MemT
> 545 Hales 5320 HBiE @56 N7/g6
% EEE D280 Hae 063 B
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HCXOAHBIH BapuaHT
mapametp 41 [ 42 [ 43 [44 [ 45 [46 | 47 [ 48 [ 49 | 50
Harpyska Ha onopy Fy,KH 5 8 8 10 9 12 12 15 15 16
TToAUHITHHK 308 | 312 | 310 | 314 | 218 | 214 | 315 | 320 | 219 | 220
Krnacc TO4HOCTH 6 6 0 0 0 6 6 6 0 0
HcxoaHbI BapHaHT
TiapaMeTp 51 52 53 54 55 56 57 58 59 60
Harpy3ka Ha ornopy Fr,KH 17 14 10 12 8 9 11 8 7 6
TToAUHITHHK 222 | 316 | 307 1313 | 309 | 221 | 318 | 311 | 306 | 222
Kitacc TOYHOCTH 6 0 6 0 6 0 6 0 6 0





